ANCHOR AP SOLUTION™ CAM 0530 | CAMERA MOUNT

PRODNSIn. INSTALLATION INSTRUCTIONS

STEP 1

Align the U-Anchor on the parapet wall as per
__________ design requirement. Install the U-Anchor as per
instructions provided by Anchor Products and
in compliance with the roofing manufacturer

STEP 2

Attach the three sided strut bracket using the
provided 3/8” flat washer and 3/8”-16 flanged nut.
- B tighten to 20 ft/Ib.

STEP 3

Secure the attachment plate to the three sided
strut bracket using 3/8”-16 spring nuts and 3/8”-16
stainless steel flat head bolts.

www.anchorp.com 888-575-2131



- STEP 4
Bl e ) ot

Secure the pre-assembled camera post and plate to
the previously attached plate using a minimum of

Bl R | o 3/8” flat washers on each side of the plate and 3/8”-
16 nuts and 3/8”-16 bolts.

www.anchorp.com 888-575-2131



